[1939]
Dear Nathan,

| thought about how, in my view, the problem of Mileva Einstein’s official relationship to the
cooperation could be arranged most simply. It could write roughly the following letter to Mrs. M.

At the suggestion of Prof. Einstein, we submit the following proposal to you:

We authorize you herewith for the time being to assume from us the management of the
building at Hutten Street 62, in particular to collect the rents, to pay off the legal taxes for us, make
the mortgage interest payments, etc. You receive for this management an annual compensation of
600 fr. You submit to the c. a report on the receipts and disbursements at the end of each quarter
year.

As Prof. Einstein has to make regular payments for the support of his son, in order to avoid
unnecessary money transfers, we are agreed upon his suggestion to proceed henceforth for the time
being as follows. We lend to Prof. Einstein the remaining rental surplus for the support of Mr. E.
Einstein. Prof. Einstein has obligated himself to pay out to us the equivalent of this amount on the
basis of your statements of account.

We request your immediate reply to this proposal, which should simultaneously serve as a
power of attorney.

If you and Mr. Maas, resp. his people, agree with this, one could send her such a letter in
German. | have not sent out the money for the Zurich lawyer as yet, <because Mr. Leidesdorf does
have access to my money. | shall naturally send the check immediately, if | am asked to do so.> | am
waiting for instructions on which address it should go to and how many doll. it should be made out
for. I must also send a surplus, that stays put in the bosom of the c.—

| had to bother you again. If all of you want to do this business differently than proposed here, |
have nothing against that either. The main thing is that it should be settled soon.

Cordial regards, yours.

[ADft. Final paragraph along the right margin.]
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